
 

 

 

 

 

 

 

 

 

 

 

2- Aşağıdaki doğal sayıları 50 ile örnekteki gibi kısa yoldan çarpınız.
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36 x 50 = ………
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26 x 50 = ………
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66 x 50 = ………………
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42 x 50 =
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16 x 50 =

 

………

12   :   2  =  6

   

6  x 100 = 600

 

12 x 50 =

 

600

3- Aşağıdaki doğal sayıları 25 ile örnekteki gibi kısa yoldan çarpınız.

12   :   4  =  3

   

3  x 100 = 
300

 

12 x 25 =

 

300
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:  4  = ……
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x 100 = 
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48 x 25 =
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16 x 25 =
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………

 

64 x 25 =
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24 x 25 =

 

………
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:  4  = ……
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x 100 = 
………

 

36 x 25 =

 

………

62 x 50 = ………… ………  : 2 = ……… ……… x 100 = ……………..…

2- Aşağıdaki doğal sayıları 50 ile örnekteki gibi kısa yoldan çarpınız.

38 x 50 = 1900                     38 : 2 = 19                     19  x  100  =  1900

54 x 50 = ………… ………  : 2 = ……… ……… x 100 = ……………..…

72 x 50 = ………… ………  : 2 = ……… ……… x 100 = ……………..…

76 x 50 = ………… ………  : 2 = ……… ……… x 100 = ……………..…

92 x 50 = ………… ………  : 2 = ……… ……… x 100 = ……………..…
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